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Question Number : 921 Question Id : 226895681966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The Ecological Debt Day (Earth shoot day) is calculated as follows:

1. (World Biocapacity / World Water footprint) x 365

2. (World Biocapacity / World Carbon footprint) x 365

3. (World Biocapacity / World Ecological footprint) x 365
4. (World Biocapacity / World Ecosystem Services) x 365

Options :

2268952643998. 1
2268952643999. 2
2268952644000. 3
2268952644001 4

Question Number : 921 Question Id : 226895681966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

TiifRufa® Ho1 fGad (e 3) &1 T0H1 30 TSR & a6l &

1. (fa¥ 519 4m1a1/@Y o9 95TE) x 365

2. (G4 <13 &md1/fay e Tae) x 365

3. (9% 519 &may/fay TivRufas Tefag) x 365
4, (G <3 &mar/fay TieH ¥) x 365

Options :

2268952643998. 1
2268952643999. 2
2268952644000. 3
2268952644001. 4

Question Number : 922 Question Id : 226895681967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



The first Earth Day was celebrated on

1. 22 April, 1971
2. 22 April, 1972
3. 22 April, 1970
4. 22 April, 1973

Options :

2268952644002. 1
2268952644003. 2
2268952644004. 3
2268952644005. 4

Question Number : 922 Question Id : 226895681967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

1.22 30d, 1971
2. 22 30d, 1972
3. 22 38, 1970
4,22 30d, 1973

Options :

2268952644002. 1
2268952644003. 2
2268952644004. 3
2268952644005. 4

Question Number : 923 Question Id : 226895681968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following Environmental Ethics includes preservation of wild plants and animals, control of the human
population and simple living?

1. Social Ecology
2. Shallow Ecology
3. Deep Ecology
4. Green Ecology

Options :

2268952644006. 1
2268952644007. 2
2268952644008. 3
2268952644009. 4

Question Number : 923 Question Id : 226895681968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. TSI WIRRUTI®T (Social Ecology)
2. Yl GRS (Shallow Ecology)
3. TIg UIRIRYTA®T (Deep Ecology)

4. gitd TIRRYIT®T (Green Ecology)

Options :
2268952644006. 1
2268952644007. 2



2268952644008. 3
2268952644009. 4

Question Number : 924 Question Id : 226895681969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Who among the following coined the term of "Oekology"?

1. E P. Odum
2. Arne Naess
3. A. G. Tansley
4. Ernst Haeckel

Options :

2268952644010. 1
2268952644011. 2
2268952644012. 3
2268952644013. 4

Question Number : 924 Question Id : 226895681969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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2. 3 =9

3.1 off. el
4. 31 gahd

Options :

2268952644010. 1
2268952644011. 2
2268952644012. 3
2268952644013. 4

Question Number : 925 Question Id : 226895681970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Diversity of organism which share the same community/habitat and also called as local diversity, is referred to as

1. Beta diversity

2. Gamma diversity
3. Alpha diversity
4. Genetic diversity

Options :

2268952644014 1
2268952644015. 2
2268952644016. 3
2268952644017. 4

Question Number : 925 Question Id : 226895681970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952644014 1
2268952644015. 2
2268952644016. 3
2268952644017. 4

Question Number : 926 Question Id : 226895681971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match List-1 with List-11

List-1 List-11
(Environmental law) (Year)
(A)The Wildlife (Protection) Act M 1972
(B) The Indian Forest Act iy 1927
(C) The Madras Wild Elephant Preservation Act (1) 1960
(D) The Cruelty Against Animal Act (V) 1873

Choose the correct answer from the options given below:

1. (A
2. (A
3. (A
4. (A

= (1, (B) - (W, (C) - (1, (D) - (V)
= (1, (B) - (). (C) - (), (D) - (V)
= (0 (B) - (), (C) - (V) (D) - (1)
= (1), (B) - (V). (Q) - (1, (D) - ()

Options :

2268952644018. 1
2268952644019. 2
2268952644020. 3
2268952644021. 4

Question Number : 926 Question Id : 226895681971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 B G-Il D Gy e Siferg

-1 -1
(TataRor HT) @)
(A) TG (HE0) SHfEEg m 1972

(B) R a7 fafgs (I 1927
(C) HEIY SHTeH Tl TeEur sffEf—as (1) 1960
(D) T3 & Ufd Bl HaR® AfFEE |ov) 1873
Ird fEu T faweal © © wEl S| g

(A)-(1), (B)-(1IN, (T)-(1, (D)-(IV)
(A)-(), (B)-(11, (C)-(I, (D)-(IV)
(A)-(1), (B)-(1N, (Q)-(IV). (D)-(11D)
(

1.
2.
3.
4. (A)-(In, (B)-0NV), (O-(. (D)-(I)



Options :

2268952644018. 1
2268952644019. 2
2268952644020. 3
2268952644021. 4

Question Number : 927 Question Id : 226895681972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The theory which states that "the population grows geometrically whereas resources like food grow arithmetically”, was
given by .

1. Julion Simon

2. Friedrich Engels
3.T. R. Malthus

4. W. Thompson

Options :

2268952644022 1
2268952644023. 2
2268952644024 3
2268952644025. 4

Question Number : 927 Question Id : 226895681972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

3¢ fIgid o o9ad &edl & [ e iHdE (Geometric) TU T Fga! & waid @Ie oY T1eH ORI (Arithmetic)
wUUTEd e, R fear ma |

1. Sl GIEHA
2. el Wi
3. 71 3R, AUy
4. S5, YT

Options :

2268952644022. 1
2268952644023. 2
2268952644024. 3
2268952644025. 4

Question Number : 928 Question Id : 226895681973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

The species that invades a bare area is referred to as .

1. sere(s)
2. pioneer
3. mesic
4. climax

Options :

2268952644026. 1
2268952644027. 2
2268952644028. 3
2268952644029. 4

Question Number : 928 Question Id : 226895681973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. BHD (sere)

2. W‘Jﬁ{pioneer)

3. 975 (mesic)

4, IXH AT (climax)

Options :

2268952644026. 1
2268952644027. 2
2268952644028. 3
2268952644029. 4

Question Number : 929 Question Id : 226895681974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-11

List-1

List-Ii

Name of Ecosystem

Name of commonly found producer

(A) Deserts () Cymbopogon
(B) Grasslands (I} Capparis
(C) Ponds and Lakes (1) Hydrilla

(D) Moist deciduous forests

(IV) Tectona

& ¥q ¥ gl fear s 81

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (Q) - (0, (D) - (V)
2. (A) - (). (B) - (In), (C) - (Im), (D) - (V)
3. (A) - (IV), (B} - (I, (€) - (. (D) - (1)
4.(A)- (), (B) - (1), (O) - (M), (D) - (V)

Options :

2268952644030. 1
2268952644031. 2
2268952644032. 3
2268952644033. 4

Question Number : 929 Question Id : 226895681974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 B -1l D G e Siferg

-1 Eeifl

TIfRIfIS ST ST [ HTHRIG: UTE S aTe IS &1 A8
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(8) I & oM (1) PuRg

(C) <TaTTe 3R (RS

(D) 37T TUigTe o= (V) TFAT

I feu e faset § ¥ wet s g

1. (A)-(), (B)-(1), (C)-(, (B)-(V)
2. (A)-(1). (B)-(11), (Q)-(1), (D)-(IV)
3. (A)-(v), (B)-(1), (C)-(1h, (D)-(N)
4. (A)-(1), (B)-(1), (Q)-(1), (D)-(1V)

Options :



2268952644030. 1
2268952644031.2
2268952644032. 3
2268952644033. 4

Question Number : 930 Question Id : 226895681975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Break down of detritus into smaller particles by earthworm in an ecosystem is referred to as :

1. leaching

2. catabolism

3. fragmentation
4. humification

Options :

2268952644034 1
2268952644035. 2
2268952644036. 3
2268952644037. 4

Question Number : 930 Question Id : 226895681975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

o UIRMURI®! o H g3 ZR1 3WRe & BIc SOl H g Bl

IRELIRE]
2, U=
3. GiEE
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Options :

2268952644034 1
2268952644035 2
2268952644036. 3
2268952644037 4

Question Number : 931 Question Id : 226895681976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
Arrange the following ecological succession in the lithosphere (rocks) from initial to final succession stages
(A) Moss stage
(B) Foliose-lichens stage
(C) Herbaceous stage
(D) Crustose-lichens stage
(E) Shrub stage

Choose the correct answer from the options given below:

Options :

2268952644038. 1
2268952644039. 2
2268952644040. 3
2268952644041. 4



Question Number : 931 Question Id : 226895681976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

RS o 2IHHY GRSl a6 RTHvsd (@eH) | Hafiied uRRURE sHoa &) oaieyd $ifug
(A) I @RI (Moss stage)

(B) BITCTOY-TS0 TR ( Foliose-lichens stage)

(C) T G (Herbaceous stage)

(D) GUEI-ATSHh TRT (Crustose-lichens stage)

(E) & @R (Shrub stage)

4 faw e fawedl # @ wét Sw 3R

Options :

2268952644038. 1
2268952644039. 2
2268952644040. 3
2268952644041. 4

Question Number : 932 Question Id : 226895681977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-11

List-1 List-lI

National Park State

(A) Dudhwa (1) Madhya Pradesh
(B) Kanha (Il) Karnataka

(C) Bandipur (I} Uttar Pradesh
(D) Kaziranga (IV) Assam

Choose the correct answer from the options given below:

1.(A) - (V). (B) - (1), (©) - (1), (D) - (1)
2. (A) - (1, (B) - (0, (© - (), (D) - (V)
3.(A) - (), (B) - (1), (O) - (1), (D) - (V)
4. (A) - (1), (B) - (1), () - (1V), (D) - (1)

Options :

2268952644042. 1
2268952644043. 2
2268952644044. 3
2268952644045. 4

Question Number : 932 Question Id : 226895681977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. (A)-(V), (B)-(1), (C)-(In), (D)-(11)
2. (A)-(in, (B)-(1). (Q-(11), (D)-(1V)
3. (A)-(1), (B)-(1), (O)-(hn), (D)-(IV)
4. (A)-(1), (B)-(1N. (Q-(V), (D)-0D)

Options :

2268952644042. 1
2268952644043. 2
2268952644044. 3
2268952644045 4

Question Number : 933 Question Id : 226895681978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

In which of the following types of population interactions, one species is benefited while another species is
being harmed?

(A) Competition

(B) Parasitism

(C) Amensalism

(D) Predation

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (B), (C) and (D) only
3. (B) and (D) only
4.(C) and (D) only

Options :

2268952644046. 1
2268952644047. 2
2268952644048. 3
2268952644049. 4

Question Number : 933 Question Id : 226895681978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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(A) Wy

(B) UTSitiadn

(C) ARSI TSIl (Amensalism)

(D) TRHET
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1. &ad (A), (B) 3R (D)
2.%4d (B), (C) 3R (D)
3. &ad (8) 3R (D)
4.%dd (C) 3R (D)

Options :

2268952644046. 1
2268952644047. 2
2268952644048. 3
2268952644049. 4

Question Number : 934 Question Id : 226895681979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following population growth equation correctly represents the Verhulst-Pearl Logistic growth
equation? [Where N =population density at time t; r = intrinsic rate of natural increase; K= carrying capacity]

daN (N—K)
1. =N
é‘}f; ? (KKN)
P —

%
 uallt I'N( _‘)
gffi NNK
g AN _ (K

dt N

Options :

2268952644050. 1
2268952644051. 2
2268952644052. 3
2268952644053 4

Question Number : 934 Question Id : 226895681979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Frafaiad 5 9 o1 91 99p ofg & fRidwe-ud oo gl THio & 98 UoR 3 a2id s ?

[T61 N = T t IR GO TH@: r = WHad ga @I (intrinsic) TF K= T &)
av_ (N-EK)

i - N
gfff ? (KKN)
Pt _
r:‘f!ff :N(KK'V)
SR P i
&
LN K
dt N
Options :

2268952644050. 1
2268952644051.2
2268952644052. 3
2268952644053. 4



Question Number : 935 Question Id : 226895681980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Energy flow in an ecosystem is always

1. Cydlic

2. Multidirectional
3. Bidrectional

4. Unidirectional

Options :

2268952644054 1
2268952644055. 2
2268952644056. 3
2268952644057. 4

Question Number : 935 Question Id : 226895681980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

4: To-fegiyg

Options :

2268952644054 1
2268952644055. 2
2268952644056. 3
2268952644057. 4

Question Number : 936 Question Id : 226895681981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which one of the following is a primary air pollutant?

1. Ash from a volcanic eruption
2. Tropospheric Ozone

3. Stratospheric Ozone

4, PAN

Options :

2268952644058. 1
2268952644059. 2
2268952644060. 3
2268952644061 4

Question Number : 936 Question Id : 226895681981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

FfaRad # T & 91 UHD Ugue® o7

1. TP SAITHE! 3R ¥ Hder I
2. giFSdy SieiA

3. FHAUIHSEY Sie=

4.9 (pAN)

Options :
2268952644058. 1
2268952644059. 2



2268952644060. 3
2268952644061 4

Question Number : 937 Question Id : 226895681982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Most of the agricultural runoff and chemical fertilizers used in farming end up in water bodies, which leads to
eutrophication. The nutrients responsible for eutrophication are

1. Nitrogen and Potassium

2. Nitrogen and Phosphorus
3. Phosphorus and Potassium
4. Nitrogen and Boron

Options :

2268952644062. 1
2268952644063. 2
2268952644064. 3
2268952644065. 4

Question Number : 937 Question Id : 226895681982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

HY & ST fbT I a1 DR PR 18 IR IS Sde od e | fid 9 6, fored gamo
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1. AEEoH R UieREE
2. g R BIGRY
3. BIEpRY IR uieRrm
4, e AR aRA

Options :

2268952644062. 1
2268952644063. 2
2268952644064. 3
2268952644065. 4

Question Number : 938 Question Id : 226895681983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which one of the following are the commonly used oxidants in COD (Chemical Oxygen Demand) assays?

1. KzCFsz! + HNOg
2. KzCFsz! + HCL
3 KzCFsz! + H2504
4. KMNO4 + HCL

Options :

2268952644066. 1
2268952644067. 2
2268952644068. 3
2268952644069. 4

Question Number : 938 Question Id : 226895681983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. KzCFsz! + HNOg
2. KzC!’gO? + HCL
3. KzC!’gO? +- stoj,
4. KMNOy + HCL

Options :

2268952644066. 1
2268952644067. 2
2268952644068. 3
2268952644069. 4

Question Number : 939 Question Id : 226895681984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which one of the following scil types is most suitable for good plant growth and agriculture?

1. Sandy soils
2. Clayey soils
3. Silty soils

4. Loamy soils

Options :

2268952644070. 1
2268952644071.2
2268952644072. 3
2268952644073 4

Question Number : 939 Question Id : 226895681984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

FafaRad & T oy ISR 31 o1 Uiedl &1 o] §ig 3R $IY & a0 9ad Iuge o7

1. 9% qal
2. @t gar
3.711G Hal

4. TWE HEl

Options :

2268952644070. 1
2268952644071. 2
2268952644072. 3
2268952644073. 4

Question Number : 940 Question Id : 226895681985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following are acid forming precussor gases and causes acid rain?

1. 03 and 502

2. NO; and 502
3. C02 and SOg
4. NO; and NH3

Options :

2268952644074 1
2268952644075. 2
2268952644076. 3
2268952644077. 4



Question Number : 940 Question Id : 226895681985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

FfaRad & O oF O o S a1l WegER (QaHE) 9 § SR 3 a9l &l HRYI &1 57

1. 03 3R 503

2. NO; 3R 50,
3. €O, IR 50,
4, NO3 3R NH;

Options :

2268952644074. 1
2268952644075. 2
2268952644076. 3
2268952644077. 4

Question Number : 941 Question Id : 226895681986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following diseases is NOT a water-borne disease?

1. Cholera

2. Giardiasis

3. Bronchitis
4. Dracontiasis

Options :

2268952644078. 1
2268952644079. 2
2268952644080. 3
2268952644081. 4

Question Number : 941 Question Id : 226895681986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
Frfaiad # 9 &1F 9t I ot Siid I 8 82

1. BICRT (Cholera)

2. ooy (Giardiasis)

3. m (Bronchitis)

4, ?ﬂﬁﬁmﬁw (Dracontiasis)

Options :

2268952644078. 1
2268952644079. 2
2268952644080. 3
2268952644081. 4

Question Number : 942 Question Id : 226895681987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following techniques is not appropriate/used for air pollution control?

1. Bag House Filter

2. Cyclone Separator

3. High Volume Sampler
4. Electrostatic Precipitator

Options :
2268952644082. 1
2268952644083. 2



2268952644084. 3
2268952644085. 4

Question Number : 942 Question Id : 226895681987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
FrafiRad 5 9 oF 9 ao-ie a1y Ugh 0 & T SUed/SuarT 98l & ol 87

1. 97 8199 fioeex
2. GrEaie Yuve
3. T3 alcgd YR
4. ZoGEIReH UfgfteeR

Options :

2268952644082. 1
2268952644083. 2
2268952644084. 3
2268952644085 4

Question Number : 943 Question Id : 226895681988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-11

List - 1 List-11

Soil component  |Definition

(&) Azonal soils (1) An individual natural aggregate of soil particles.

(B) Regoliths (1) Organisms living in the soil or ground

(C) Ped (11} Soils have uniformity from the top-surface to the base, and do not have well-developed soil
horizons.

(D) Edaphons (IV) Zone of loose and unconscolidated weathered rock materials.

Choose the correct answer from the options given below:

1.(A) - (), (B) - (), (C) - (), (D) - (V)
2.(A) - (IV), (B) - (1), (O - (1, (D) - (1)
3. (A) - (V). (B) - (), (©) - (. (D) - (1)
4. (A) - (1), (B) - (V). (©) - (I, (D) - ()

Options :

2268952644086. 1
2268952644087. 2
2268952644088. 3
2268952644089. 4

Question Number : 943 Question Id : 226895681988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. (A)-(1, (B)-(1n), (C)-(lin), (B)-(V)
2. (A)-(IV), (B)-(1). (C)-(n), (D)-(11D)
3. (A)-(IV). (B)-(l), (©)-(n), (©)-()
4. (A)-(1n), (B)-(V), (Q)-(1), (D)-(1N)

Options :

2268952644086. 1
2268952644087. 2
2268952644088. 3
2268952644089. 4

Question Number : 944 Question Id : 226895681989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
Arrange the following gases in increasing order of their concentrations in the Earth's atmosphere.
(A) Oxygen
(B) Carbon dioxide
(C) Nitrogen
(D) Argon
(E) Necn
Choose the correct answer from the options given below:

Q
Q
B)
Q

1. (B). (B), (D). (A),
2. (E), (D), (B), (A),
3.(C), (A), (D), (B),
4. (E), (B), (D), (A),

Options :

2268952644090. 1
2268952644091. 2
2268952644092. 3
2268952644093. 4

Question Number : 944 Question Id : 226895681989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Fafafad 9 @ gl & e & 30! Yba0 & 95d $H I aid Hig
(A) SHiedioH

(B) DTS- SIS

(©) TrgIsH

(D) 3w

(| e

1 g e fawegl & @ wet Sw 9hu

1.(B),
2.(B),
3.(Q,
4. (B),

E). (D). (A),
D). (B). (A)
A). (D), (B).
B). (D). (A)

g
g
E)
Q

Options :

2268952644090. 1
2268952644091. 2
2268952644092. 3
2268952644093. 4

Question Number : 945 Question Id : 226895681990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-11

List | Content of humus List Il Percentage of contents
(A) Carbon (1) 35-40%

(B) Oxygen {1y ~ 5%

(C) Hydrogen (1) 55-60%

(D) Nitrogen (V) 15%

Choose the correct answer from the options given below:

1. (A) - (11, (B) - (0, (©) - (), (D) - (IV)

2. (A) - (1), (B) - (1), (C) - (V). (D) - (1)

3. (A) - (U, (B) - (0, (©) - (V). (D) - ()

4. (A) - (1), (B) - (V). (C) - (. (D) - (1)
Options :

2268952644094. 1
2268952644095. 2
2268952644096. 3
2268952644097 4

Question Number : 945 Question Id : 226895681990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



o Tt
gAY B |t arft @1 ufaE
(A) DTS (1) 35-40 WG
OEESIEE] (i ~ 5 ufaEE
(C) BTZS o (1) 55-60 ufa=rd
(D) TECeH (V) 15 Tfcrer
I &u T fawcdl & 9 98 S g
1. (A) - (), (BY - (1), (C) - (), (D) - (V)
2. (A) - (1, (B) - (), (©) - (v), (D) - (B
3. (A) - (), (BY - (1), (C) - (V). (D) - (1)
4. (A) - (1), (B) - (v}, (©) - (I, (D) - (I

Options :

2268952644094. 1
2268952644095. 2
2268952644096. 3
2268952644097. 4

Question Number : 946 Question Id : 226895681991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

In which process, waste material is burnt in absence of oxygen?

1. Incineration
2. Pyrolysis

3. Gasification
4. Composting

Options :

2268952644098. 1
2268952644099. 2
2268952644100. 3
2268952644101. 4

Question Number : 946 Question Id : 226895681991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

g i 5, sifeiiem & erva 7 sy ol of Sam e 82

1. YEHI
2. TRty
ERIE G
4, HEIRET

Options :

2268952644098. 1
2268952644099. 2
2268952644100. 3
2268952644101. 4

Question Number : 947 Question Id : 226895681992 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Catalytic converters fitted in vehicles are used for

1. oxidation of NO,, CO and hydrocarbons.

2. oxidation of CO and reduction of NO,.

3. reduction of CO5 and oxidation of NO.

4. oxidation of CO, and reduction of NO; and volatile organic carbons.

Options :

2268952644102. 1
2268952644103. 2
2268952644104. 3
2268952644105. 4

Question Number : 947 Question Id : 226895681992 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

el § o 8U IaR® (Hefene) uadd! &1 Iua % foru fear ST 81

1. NOx, CO ¥R SESI@E- BT Hiaimol

2. CO T ARSI 3R NO, BT =8

3. CO, T UTFFHR NO @7 SfiFiiEHeu

4. CO FT HTRIHI 3R NO, R TTLT BEHS Bl B I

Options :

2268952644102 1
2268952644103. 2
2268952644104. 3
2268952644105. 4

Question Number : 948 Question Id : 226895681993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following traditional rainwater harvesting systems is/are commonly used in the state of Bihar?
(A) Eris

(B) Ahar

(C) Surangams

(D) Pyne

Choose the correct answer from the options given below:

1. (B) only

2. (B) and (C) only
3. (A) and (C) only
4. (B) and (D) only

Options :

2268952644106. 1
2268952644107 2
2268952644108. 3
2268952644109. 4

Question Number : 948 Question Id : 226895681993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



fagr e # Mafifed § ¥ o uRuRe auf Sid @95+ Yol & SE-adL: SUarT 6dl &l 8/8?
() TR

(B) 3R

(© g™

(D) U5

a1 faw e fawel @ wét | ghe

1. ®4d (B)

2.%4d (8) AR (Q
3. &ad (A) AR (Q
4.%4d (B) AR (D)

Options :

2268952644106. 1
2268952644107. 2
2268952644108. 3
2268952644109. 4

Question Number : 949 Question Id : 226895681994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following are associated with Gandhian concepts of holistic development of the nation?
(A) Antodaya

(B) Sarvodaya

(C) Panchayti Raj

(D) Reverse migration

Choose the correct answer from the options given below:

1. (A) and (B) only

2. (A), (B) and (C) only
3.(B) and (C)

4, (A), (B), (C) and (D)

Options :

2268952644110. 1
2268952644111. 2
2268952644112. 3
2268952644113. 4

Question Number : 949 Question Id : 226895681994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Frafaiad # 9 S1F-1F P & Faltivl fGer $1 Meiard s@yromsi ¥ §s g e?
(A) Sfiled

(B) Hdlcg

(C) YTl IS

(D) 3cHH YT
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1. Bad (A) AR (B

2. %ad (A), B}aﬁ?
3. &ad (8) 3R (Q)

4. (A), (B), { C)G?I?(D}

Options :

2268952644110. 1
2268952644111. 2
2268952644112. 3
2268952644113. 4

Question Number : 950 Question Id : 226895681995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is a suitable example of sedimentary cycle?

1. Carbon cycle

2. Oxygen cycle

3. Nitrogen cycle

4. Phosphorous cycle

Options :

2268952644114. 1
2268952644115.2
2268952644116. 3
2268952644117. 4

Question Number : 950 Question Id : 226895681995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

FfaRad & T &F W1 S[aue] 9% S SUgad J61el o7

1. Bla T

2. 3gHie 9%
3. ASeioF 9%
4. BIEBRY IF

Options :

2268952644114. 1
2268952644115. 2
2268952644116. 3
2268952644117 4

Question Number : 951 Question Id : 226895681996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Decentralised Waste Water Treatment (DEWAT) system has
{(A) Low primary investment.

(B) Easy to operate and maintenance.

(C) Baffled filter reactor filled with stone for filtration.

(D) First three chambers for sedimentation of sludge.
Choose the correct answer from the options given below:
1. (&),
2. (A),
3. (A),
4. (B),

B) and (D) only
B) and (C) only
B), (C) and (D)

C) and (D) only

Options :

2268952044118. 1
2268952644119.2
2268952644120. 3
2268952644121. 4

Question Number : 951 Question Id : 226895681996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Tt dioa SUfRIp od Qe (DEWAT) Toell & A & ¥ &5 &H B gl s 2
() e e Faw

(B) HETTH SR TEREE H SEFl

(C) FEieA & o S 5-UaR § R gofl SUTS flheey Ruae?

(D) MU (@BT=9) B Sfa¥ic & AL ugd &1 Dl

1 g e fawel @ wet W) 3R

1. a4 (A), (B) 3R (D)
2.%ad (A), (8) 3R (©)
3.(A), (B), (C) 3R (D)

4.%4d (B), (C) IR (D)

Options :

2268952644118. 1
2268952644119.2
2268952644120. 3
2268952644121. 4

Question Number : 952 Question Id : 226895681997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

The resources which are available but are not yet explored due to lack of technology are refreered to as

1. Reserve resources
2. Potential resources
3. Stock resources

4. Actual resources

Options :

2268952644122. 1
2268952644123. 2
2268952644124.3
2268952644125. 4



Question Number : 952 Question Id : 226895681997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

g YU o SUae & dfde WEifie! & 31419 & SR o % Giel T8 U §, 3 6" ©u § dafifd fear s gz

1. HRI&T Ta1gH

2. HYyTeg TEre

3. Wid (YSR) 991gT
4, grxifae 9are

Options :

2268952644122. 1
2268952644123. 2
2268952644124. 3
2268952644125. 4

Question Number : 953 Question Id : 226895681998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Who among the following is known as the Father of the Green revolution and was also awarded the Nobel Peace Prize
in the year 19707

1. M. S. Sawaminathan
2. Norman Fukuoka

3. Norman E. Borlaug
4. Borlaugh Fukuoka

Options :

2268952644126. 1
2268952644127.2
2268952644128. 3
2268952644129. 4

Question Number : 953 Question Id : 226895681998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Fafafad o 9 fod sRd ifd & oH® & w0 H S oidl & 3R 3% g 1970 # Aldd ifa GHR ¥ HI ww1d fovar
Ui

1. TH.UY WA
2. A1 T
3. 99 5. FRan
4. IRANT HHAHT

Options :

2268952644126. 1
2268952644127.2
2268952644128. 3
2268952644129. 4

Question Number : 954 Question Id : 226895681999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1



Organoponics is a labor-intensive form of local agriculture using organic methods. The concept of Organioponics was
first evolved in

1. India
2. Srilanka
3. China
4. Cuba

Options :

2268952644130. 1
2268952644131. 2
2268952644132. 3
2268952644133. 4

Question Number : 954 Question Id : 226895681999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

ST Sa® Ug gl &1 IUaF $3d SIFY $iY &1 U6 Y0151 ©U g AFAGIHE $1 Yhed- 9auyd
___Hfawibags 4

1.4
2. gicidn
344

4. 7

Options :

2268952644130. 1
2268952644131.2
2268952644132.3
2268952644133. 4

Question Number : 955 Question Id : 226895682000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

"Sale of products like smartphones interconnected by a network” is a close example of

1. positive production externalities
2. negative consumption externalities
3. positive consumption externalities
4. negative production externalities

Options :

2268952644134. 1
2268952644135.2
2268952644136. 3
2268952644137. 4

Question Number : 955 Question Id : 226895682000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

“Ue Jeqd (od) BRT 3109 J I3 WGH oF Saal o e F1 U Fde IGeRv gl

1. TPRIED JTG ey
2. TERIED STHRT Felard
3. GERIAS U drerad
4, THRIES FATG ST

Options :
2268952644134. 1
2268952644135. 2



2268952644136. 3
2268952644137. 4

Question Number : 956 Question Id : 226895682001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Arrange the following greenhouse gases in ascending order of their contribution to global warming.
(A) CHa
(B) N;O
(C) CECs
(D) CO2
Choose the correct answer from the options given below:

1.(A), (B), (O
2.(B), (O) (A)
3.(C), (B)

4. (A) (

D)
(D)
B). (A), (D)
Q). (B), (D)

"

Options :

2268952644138. 1
2268952644139.2
2268952644140. 3
2268952644141. 4

Question Number : 956 Question Id : 226895682001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

fFroffad ey 16T @ 3w o & 396 IreH & RIS w9 H oqafeud Bifn
{A) CHy

(B) N2O

(C) CECs

(D) CO;

2 fau e ool § @ et S| g

1. (A), (B), (C), (D)
2.(B), (C), (A), (D)
3.(Q). (B), (A) (D)
4. (A), (Q). (B), (D)

Options :

2268952644138 1
2268952644139.2
2268952644140. 3
2268952644141. 4

Question Number : 957 Question Id : 226895682002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Arrange the following electromagnetic radiations in ascending order of their frequency.
{A) Micro-wave

(B) Radio-wave

(C) Gamma Rays

(D) UV Rays

(E) Infrared radiations

Choose the correct answer from the options given below:

—

Q. (D), (B)
A). (B), (E)
E). (D). (C)
B), (A), (E)

1. (A), (B
2.(0. (D
3.(B), (A
4.(D), (C

'

—

foni

—_—

Options :

2268952644142. 1
2268952644143.2
2268952644144. 3
2268952644145. 4

Question Number : 957 Question Id : 226895682002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

FafaRad sdaeaufes ASTR &l 3981 SH1gRl & RG] HH H FHaYd DIty
(A) G&H T (Micro-wave)

(B) I3TI-TT (Radio-wave)

(C) TITHT 330 (Gamma Rays)

(D) TRISTH fR0T (UV Rays)

(E) 3{ad fafeh (Infrared radiations)

2 g e ool § @ wét S| g

1. (A), (B
2.(0), (D
3.(B), (A
4.(D), (C

. (@), (D), (E)
« (A), (B), (E)
. (). (D). (C)
« (B, (A), (E)

— e = o

Options :

2268952644142. 1
2268952644143. 2
2268952644144. 3
2268952644145, 4

Question Number : 958 Question Id : 226895682003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which of the following are push factors for rural to urban migration?
(A) Flood

(B) Political instability

(C) Better job opportunities

(D) High agricultural yields

Choose the correct answer from the options given below:

1. (A), (B) and (C) only
2. (B) and (D) only
3. (A) and (B) only
4. (B), (C) and (D) only

Options :

2268952644146. 1
2268952644147.2
2268952644148. 3
2268952644149. 4

Question Number : 958 Question Id : 226895682003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Fgfafad o 9 &F 9§ 7 4 ed U9 & U Ufd®s &R (push factors) 87
(A) 9 Te

(OREEIREREIRIEG

(C) SBTR B P HIW

(D) I PN 3T

4 feu e fawedl # @ wét S ghe

1. 8ad (A), (8) 3R (Q)
2.%4d (B) 3R (D)
3, &ad (A) AR (B)
4.%dd (B), (C) 3R (D)

Options :

2268952644146. 1
2268952644147.2
2268952644148. 3
2268952644149. 4

Question Number : 959 Question Id : 226895682004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Ecosystem provides us food, raw materials, genetic resources. This is a close exmaple of

1. Regulating ecosystem services
2. Supporting ecosystem services
3. Cultural ecosystem services

4. Provisioning ecosystem services

Options :

2268952644150. 1
2268952644151.2
2268952644152. 3
2268952644153. 4



Question Number : 959 Question Id : 226895682004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

TIikea 5 a1, Tl A, SMdiRIe JHreH 3uds $0d 8 | 78

1. Frame mifeds darg

2. gfaaR] uifes dartd
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Options :

2268952644150. 1
2268952644151. 2
2268952644152.3
2268952644153 4

Question Number : 960 Question Id : 226895682005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following treaty is known for ban on production and use of ozone depleting substances?

1. Kyoto protocol

2. Montreal protocol
3. Paris agreement
4. Geneva protocol

Options :

2268952644154. 1
2268952644155.2
2268952644156. 3
2268952644157. 4

Question Number : 960 Question Id : 226895682005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. TS HiE®la
2. Hifcad vieiard
3. TG 993iar
4. fea UieieTa

Options :

2268952644154. 1
2268952644155. 2
2268952644156. 3
2268952644157 4

Sub-Section Number : 2
Sub-Section Id : 22689528071
Question Shuffling Allowed : No

Question Id : 226895682006 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (961 to 965)



Read the passage and answer the following questions:

International trade is the result of specialization in production. It benefits the world economy if different countries practice
specialization and division of labor in the production of commodities or provision of services. Each kind of specialization can
give rise to trade. Thus, international trade is based on the principle of comparative advantage, complementarity and
transferability of goods and services. In principle, international trade should be mutually beneficial to trading partners. In
modern times, trade is the basis of the world’s economic organization, such as the WTO, and is related to the foreign policy of
nations. With well-developed transportation and communication systems, no country is willing to forgo the benefits derived
from participation in international trade. There are various factors which can be the basis of international trade, such as
differences in national resources, population factors (size and cultural diversity), stage of economic development, extent of
foreign investment, transport facilities etc. The world’s natural resources are unevenly distributed because of differences in their
physical settings i.e., geology, relief, soil and climate. Further, the size, distribution and diversity of people between countries
affect the type and volume of goods traded. At different stages of economic development of countries, the nature of items
traded undergo changes. Moreover, foreign investment can boost trade in developing countries that lack capital required for
the development of mining, oil drilling, heavy engineering and plantation agriculture.

Sub questions

Question Number : 961 Question Id : 226895682007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : S Wrong Marks : 1

Which of the following is NOT an acceptable foundation for international trade?

1. Production of a specific commodity

2. Mutual benefits for trading countries

3. Conflicts in foreign policies of trading countries

4. Better transportation facilities between trading countries

Options :

2268952644158. 1
2268952644159. 2
2268952644160. 3
2268952644161. 4

Question Number : 962 Question Id : 226895682008 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : S Wrong Marks : 1

Which among the following is a TRUE statement?

1. In agriculturally important countries, agricultural products are expected to be exchanged for manufactured goods.

2. Industrialized nations are expected to import machinery and finished products and export food grains and other raw
materials.

3. The countries which are pioneers in the research and development of defense technology are expected to import
state-of-the-art defense technology from Third World.

4. The stage of economic development of a country does not impact the nature of traded products.

Options :

2268952644162. 1
2268952644163. 2
2268952644164. 3
2268952644165 4

Question Number : 963 Question Id : 226895682009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : S Wrong Marks : 1



Which of the following is the closest example of internationally traded product due to climatic factors?

1. Export of textiles from Bangaldesh

2. Export of the finest porcelain from China

3. Export of Banana from the tropical regions

4. Export of Batik cloth (a prized handicraft) from Indonesia

Options :

2268952644166. 1
2268952644167. 2
2268952644168. 3
2268952644169. 4

Question Number : 964 Question Id : 226895682010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following was formerly known as the General Agreement for Tariffs and Trade?

1. World Transportation Organization
2. World Tariffs Organization

3. World Trade Organization

4. World Taxation Organization

Options :

2268952644170. 1
2268952644171. 2
2268952644172. 3
2268952644173 4

Question Number : 965 Question Id : 226895682011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

An initial form of a trade system in primitive societies, where the direct exchange of goods was practiced, is known as

1. Barabrian System
2. Slave Trade System
3. Barter System

4. Salarium system

Options :

2268952644174. 1
2268952644175.2
2268952644176. 3
2268952644177 4

Question Id : 226895682006 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (961 to 965)



ufvede @1 0d SR Frafafad ust & I &

SRIPT SR Iere H [ARIFes0r &1 uRUH §1 95 fa% 1 srfoqaw & i Sl & e faftr 1y avgaei & e a
Yarell 3T Ul # o9 G 9uT faRidiore o umi | a1l X UPR @ [RFieu auR ©f 59 ¢ 9%l &l 59 TaR,
SR UR agefi 3R Yarsil & geies o, URGRPal SR gwiRuigd & REfd W snuid g 81 d<ifde ¥ 9,
SiRIPI MR AR HIIGRT & [T URWRS Y § AHEES g1 A1ie| MY §HY H AR, i@y & aiitfe 9e- o i3y
FMUR TG (WTO) BT 2R 8, 3R I8 Pl & 3 Aifd ¥ F&fta 81 Gasiia uRas 3R GaR yuniedl ¥ gad, @15 41 ax
&mﬁmwﬁmﬁwmﬁﬁ@@ﬁ%ﬁﬁqmqﬁ%l@ﬁm%@ammawwanwﬁm% oY fs
mwﬁﬁfﬂﬂm SIS PRE (PR IR Tias ), s e o ween, e faw 1 9, uiee g
e | iy & wipfas T SR U @ faka § w0 S0 Yine awi 38 yfagH, Swee, fig 3R sar & e 31
$HS 3T, IPT b & TR BT MR, &aRvr 3R fafae SR S 9 arell aeged & UoR R 76 S UHiiad Sl 8| AP &
e fiora & faftm varensl ¥ SR $ o1 AT avgel 31 Hota # uRad gl 21 59 o, faesh few e sz §
AR &1 95141 ¢ 9ol o, 9el @4, 90 3@, Y Sen-aieT R @1 S & [ & g S1a=as ol @f &4 8l

Sub questions

Question Number : 961 Question Id : 226895682007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

FrafaRad # 9 o1F 91 SRIF R & e e 2R 781 67

1. U TaTIY 9% &7 I

2. AT 1 & Tl URER® oty

3. IR <=1 @1 fdew -Hifadl & eavd
4, TR G201 & 819 Seok Ukde gaun

Options :

2268952644158. 1
2268952644159. 2
2268952644160. 3
2268952644161. 4

Question Number : 962 Question Id : 226895682008 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Fofafad § ¥ &F 91 U &Y 98t o7

1. P BT =¥ Y Aeayyl o2 &, B IdIG! I [aHfHd el & T SeH-UGH §iH @I 3HiIE ol

2. ST P Y U P S & & d AR AR SifoH SaTal 1 Sard S SR Wl SR 3 b=l Al &l Fafa
Gl

3. & et & ergeer o fasry o syl gl @ dradl gfar ¥ siranyfie &1 M &1 S &3 &1 3HiE o

4. oot S21 & oNffe [T &1 WG SRS SATG] B UdHid bl UHIEd 98] Bl o

Options :

2268952644162. 1
2268952644163. 2
2268952644164. 3
2268952644165. 4

Question Number : 963 Question Id : 226895682009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

fFrafeRad 5 9 BIF 91 SRIFTY AR Sadrg SR Y GHiad 2

1. SHCCY § $US! &I faid

2. 9 ¥ SgadH 91 gl & & @ Fala

3. IUPICH T US= U del &I i

4. 3EHRAT Y Fifcd TUS], U TogdH gwiId, &l FHafd

Options :
2268952644166. 1



2268952644167.2
2268952644168. 3
2268952644169. 4

Question Number : 964 Question Id : 226895682010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : S Wrong Marks : 1

Fafafad o 9 fod ued @R 3R @ od 99 Y9 (12) & U § Sel wl U1

1. 9% URag W16
2. [y Yoo G154

3. fay =R 9
4. 13y HUYHE G

Options :

2268952644170. 1
2268952644171. 2
2268952644172. 3
2268952644173. 4

Question Number : 965 Question Id : 226895682011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : S Wrong Marks : 1

3TfeH AT H SITUR oaaeuT &f ARf® U, Sigf aegsil & Uedef seH-UeH el e, 38 ___ & EUH
EIGIEIGIE]

1. ARIfEEA SaRT
2. G TR a®]
3. fafmg ogae

4. Jaifvemd oaaw

Options :

2268952644174. 1
2268952644175. 2
2268952644176. 3
2268952644177 4

Sub-Section Number : 3
Sub-Section Id : 22689528072
Question Shuffling Allowed : No

Question Id : 226895682012 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (966 to 970)

Read the passage and answer the following questions:

Agricultural productivity is affected by physical, socioeconomic, institutional and organizational factors, besides the attitude of
farmers and their managerial skills. On the whole, Indian agriculture doesn't show high productivity, though there is an
improvement in this sector since independence. Green revolution was introduced in 1967-68, as a new agricultural strategy
woven around the usage of high yielding varieties (HYV) of seeds and included inputs such as chemical fertilizers and pesticides,
assured water supplies, power supply at subsidized rates, access to credit facilities etc. As a result of Green Revolution,
foodgrains production rose sharply. The main beneficiaries of Green revolution programme were Punjab, Haryana and western
Uttar Pradesh in terms of wheat production and the deltaic regions of east coast in terms of rice. Ninety percent of the farmers
in India are marginal farmer with low land holdings. They practice subsistence farming characterized by uncertain yields, low
incomes and low capital formation. Additionally, the excess usage of chemical fertilizers and pesticides have harmed the long-
term fertility of soil.

Sub questions
Question Number : 966 Question Id : 226895682013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No
Correct Marks : S Wrong Marks : 1



Which factor is not responsible for low agricultural productivity in India ?

1. Lack of credit facilities to the farmers.

2. Reclamation of degraded lands.

3. Uncertain monsoons and lack of irrigational facilities.

4. Small land holdings constrain farmers from adoption of mechanized operations.

Options :

2268952644178. 1
2268952644179. 2
2268952644180. 3
2268952644181. 4

Question Number : 967 Question Id : 226895682014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is not an advantage of the Green Revolution in India ?

1. Use of HYV seeds for cultivation.

2. Introduction of easy credit schemes for the marginal farmers.
3. Use of chemical fertilizers and pesticides.

4. Improvement of irrigation facilities in the dryzone areas.

Options :

2268952644182. 1
2268952644183. 2
2268952644184. 3
2268952644185. 4

Question Number : 968 Question Id : 226895682015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Subsitence farming is not characterised by

1. uncertainity in the crop yield

2. poor capital gain to farmers

3. dependence on natural resources

4. reliance on modern farming tools and techniques

Options :

2268952644186. 1
2268952644187. 2
2268952644188. 3
2268952644189. 4

Question Number : 969 Question Id : 226895682016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which one of the following is not a measure te improve agricultural productivity?

1. Speedy implementation of land reforms.

2. Special attention to dryland farming.

3. Propagating scientific agricultural practices.
4. Decreasing cropping intensity.

Options :

2268952644190. 1
2268952644191.2
2268952644192. 3
2268952644193. 4



Question Number : 970 Question Id : 226895682017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following state of India was not a direct beneficiary of green revolution in its begining stage in 197057

1. Punjab

2. Uttar Pradesh
3. Rajasthan

4. Haryana

Options :

2268952644194. 1
2268952644195 2
2268952644196. 3
2268952644197. 4

Question Id : 226895682012 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (966 to 970)

ufvede @1 0d SR Frafafad ust & I &

H IAEHA [GUHl & AN R 35 USUSB Y DI & Ml Hiidd, HHuIEe-H1E, YRIFK AR e-Es SRl 4
THITad Bid 51 ol e, HRA™ $iY 3 SdTeddl el Wdld e! oidl 6, STaiid WaAdl & 916 J 59 & H GUR g3 g1 1967-
68 7 gRd Hifd AFL S & 1g, dieil @I I SU & el el (Hyv) & S & 3¢-1E &t 712 w15 ot wilifd & wu §
& @ 71 o SR 3OE TOEiE SRe! R Sleaml, gRET w9 o, e ot w Sud @ smofd, o giawret
AIfeR 3Nfe o a9 wifed 41 8Ra ifd & uRuHEEy, Wi Idied | dell 4 3k g3 1 sRd wifd orisd siwid 15 3de
& A H g, g SR 9iie SW Yo, Ud 99d & A § gdl 9 & Secd & TEad arHiad g | HRd § 9 gfosd
fere diid oM § foFd o 4 yEid 81 3 A UGHR, $9 o SR $F Yol HEM0 @ fa2vd ardl $i9 4 Fafg $d gl
T Sfalad, it Om 5 IUEHS J0ia] AR BIcARD! & SUdN - Jal & crHdlam Saidl @ &fd Teard |

Sub questions

Question Number : 966 Question Id : 226895682013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

R H BH $1Y SUGH & [ D I RS JWell 6l 67

1. foamT @1 3507 graensft &1 <@

2. Fieliepa yft &1 gHeaR

3. AT T SR fiars gawmed @1 onm

4, B Y Ad forae! @ figed ST @ ST J a1

Options :

2268952644178. 1
2268952644179. 2
2268952644180. 3
2268952644181. 4

Question Number : 967 Question Id : 226895682014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Fofafad o 9 & 91 YRa § 8d Hifd &1 a1y Tl 87

1. 3 & 0 de & 9o SUe @) e (Tearsdl) @1 Suan
2. id fgm! & O WRa 507 a1 &1 an &
3. IS SdR@! R DD B ST

4. Y[PYCT & & H Riars giawmel § gur

Options :
2268952644182. 1
2268952644183 2



2268952644184. 3
2268952644185. 4

Question Number : 968 Question Id : 226895682015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Sefiar (Subsitence) ol B a2

1. udl B UgHAR H AR

2. ot & fore &9 gefirg oy

3. Uidra® ganeA! | Ay

4, AYFD Tl & AR AR d@ e )R ik

Options :

2268952644186. 1
2268952644187. 2
2268952644188. 3
2268952644189. 4

Question Number : 969 Question Id : 226895682016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
Fafafad & 9 &F W o Saaddl I UR @1 30 T6l 67

1. YT GuRS &1 aia dEaaad
2. 3 Y i ) 59w g
3. A9IF® B Usfod! &1 YER
4. U B a1 H BHI

Options :

2268952644190. 1
2268952644191.2
2268952644192 3
2268952644193. 4

Question Number : 970 Question Id : 226895682017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

faiad § O YR &1 &H a1 39d 1970 5 8Ra ifd & THed R F ueref arurelf et ar

1. Gl

2. SR UG
3.6

4. gl

Options :

2268952644194 1
2268952644195.2
2268952644196. 3
2268952644197. 4



